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Part A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four

words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best
completes the sentence. Then mark your answer sheet.

76-

77-

78-

79-

80-

81-

82-

83-

84-

Many pcople don’t like living alone ——-—----- difficult to do cvervthing by themsclves.

1) to find that 2) which they find

3) because they find it 4) as for them it 1s found

Since we opened our door in 1995, more than seven million people ------—— our national
park.

1) visited 2) have visited 3) had visited 4) were visiting

As the money --——----- as a farmer is not enough to cover his expenses, he plans to switch to
another job.

1) which he makes 2) is made by him

3) that hc makces it 4) which it makes him

Ann wishes that she received a better salary ----——-—-—-—- she could move to a larger apartment.

1) whereas 2) whether 3) so that 4) while

An important function of the World Health Organization is to improve the living =--------
of the sick and the poor of the world.

1) issues 2) patterns 3) occasions 4) conditions

If you ——------- your pet animal on biscuits, it's not surprising he's so fat.

1) feed 2) offer 3) Ican 4) conccntrate

Training is provided, so no previous experience is --—---- for the job.

1) enhanced 2) designed 3) received 4) required

How can doctors decide whether someone is =-------- ill if they do not have the time to
examine them?

1) anxiously 2) scriously 3) naturally 4) nccessarily

I am sorry to say that our predictions turned out to be hopelessly out of line with the
————————— results which we arrived at after conducting carcful studics.

1) entire 2) actual 3) probable 4) developmental
Though called an ‘eater of time’, T would go so far as to state that TV is a necessary source
of information as well as ----———- .

1) exploration 2) expression 3) entertainment 4) involvement

As the carly reports have not yet identificd anyone responsible for the terrible train
accident, the related ofticials refuse to -———---——- its cause at this stage.

1) speculate on 2) keep up with 3) generalize 4) forccast

A general description or report, referring to only the main --—---—--- , as of a book, subject, or
project is known as an outline.

1) phrases 2) gestures 3) guides 4) features

Part B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide
which choice (1), (2), (3), or (4) best fits each space. Then mark your answer sheet.

Colors influencce the bodily functions, mind and cmotions with the cnergy (88) -------- .
Studies done clearly show the benefits of colors in relation to the development of the

brain, crcativity, productivity (89) --------- . The effects of color on human beings can be
varicd; (90) --------- cxcitement, Iending calm, giving motivation, raising anxicty or
tension or giving peace (91) --------- . These effects can be observed more clearly in

children. Children can be more sensitive to colors. For this reason it is quite important to
choose colors (92) --------- for children.
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88-
89-
90-
91-

92-

1) light produce 2) produces light

3) is produced by light 4) produced by light

1) to learning 2) and learning 3) is learned 4) learned
1) choosing 2) leading 3) causing 4) proving
1) these effects are some 2) and some of these effects

3) are some of these effects 4) some of these effects are

1) appropriatc 2) artificial 3) willing 4) rclaxed

Part C: Reading Comprehension

Directions: In this part of the test, you will read two passages. Each passage is followed by four
questions. Answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark your
answer sheet.

93-

94-

PASSAGE 1.

Languagc is onc of the important abilitics of humans which makcs humans stand out
from animals, so language loss raises serious questions about our history, our humanity
and pcrhaps about our futurc, too. Any study of thc history of language shows that
languages, like humans, develop over time. According to some estimates, around 7,000
languages are still spoken in the world. This number is a sign of the diversity and range
of human experience in all around the world. But not all those languages are equally
healthy. In fact, while some languages are healthy and powerful, others are in the process
of dymng and disappearing. In fact, research shows that languages are dying out very fast.
Some belicve that by 2100, most of these languages, perhaps as many as 90% of them,
will no longer exist in the spoken medium. If this were plant life, or whales and dolphins,
many pcoplc would bc worricd and ask somcthing to be donc to stop this unlucky
process. Yet, surprisingly, there seems to be little interest in this terrible event. What is
lost when a languagce ccascs to exist?

What is the subject of the passage?

1) Language loss

2) How languagcs dic out

3) Comparison of modern and old languages

4) The main diffcrence between humans and animals

Why does the author make a comparison between languages and humans in the second

sentence, “Any study of the history of language ...”?

1) Becausc languages arc spoken by humans

2) Because both languages and humans have histories

3) Because both languages and humans do not stay the same in the course of time

4) Because when languages are lost, humans lose whatever knowledge and experience
they have collected through them

What does the phrase “these languages™ refers to?

1) Healthy and powcrful languagcs

2) The languages that are dying out very fast

3) Those languages that manage to survive by 2100

4) The 7,000 languages that are still spoken in the world
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96-

97-

98-

99-

100-

The passage most probably continues with a discussion of ------—- .

1) the reasons why languages die

2) what to do to prcvent languages from going out of cxistence

3) why people are worried about the gradual death of languages

4) what language loss makes us lose 1n addition to the language itself

PASSAGE 2:

Some people are shy, which means they feel uncomfortable in the presence of others. If
you suffer from shyness, you are not alone, for there are many people having the same
problem. According to rccent rescarch, close to S0 pereent of the gencral population
report that they currently experience some degree of shyness in their lives. In addition,
close to 80 percent of people report having felt shy at some point of their lives. As
shyncss 1s so widesprcad m the world, it 1s not surprising that social scicntists arc
lcarning morc about its causcs. They have found that shyness m an individual can result
from both biological and environmental factors.

Recent rescarch shows that some pcople arc genctically predisposcd to shyncess. In
other words, some pcoplc say that somc pcoplc arc born shy. Rcscarchers say that
between 5 and 20 percent of newborn babies show signs of shyness: they are quieter and
more watchful. Researchers have identified physiological differences between sociable
and shy babics that show up as carly as two months. In onc study, two-month-olds who
were later identified as shy children reacted with signs of stress when they were shown
moving mobiles and tape recordings of human voices: increased heart rates, jerky
movements of arms and legs, and cxcessive crying. Further cvidence of the genctic basis
of shyncss 1s thc fact that parcnts and grandparcnts of shy children morc oftcn say that
they were shy as children than parents and grandparents of non-shy children.

Social scientists have tried to find out about the causcs of shyness because =====----,

1) it is a problem many people suffer from

2) 1t surcly has a mental but not a physical origin

3) previously suggested ways to control it did not work

4) some people who report that they are shy may not really be shy

It can be concluded form paragraph 2 that if a person’s parents and grandparents are shy,

he -—--—- -

1) would turn out to bc Icss sociablc than they werc

2) needs to see a medical doctor immediately

3) has had a difficult childhood

4) 1s likcly to be shy too

The word “they” in paragraph 2 refers to ---————-- .

1) signs ol stress

2) two-month-olds

3) shy children in general

4) mobiles and tape recordings of human voices

Which of the following statements is TRUE, according to paragraph 2?

1) No one is born shy.

2) There arc physiological differences between shy and sociable babics.

3) Shy pcoplc arc typically quicter but Icss carcful than thosc who arc not shy.

4) Heart rates, jerky movements of arms and legs, and excessive crying are some
physiological causcs of shyncss.



